

۱۹۱۷۵ ~ آفرین

①

$$a+b=0$$

γ

$$\begin{bmatrix} b \\ a \end{bmatrix} = \begin{bmatrix} \frac{\sqrt[3]{14}}{-\sqrt[3]{\varepsilon}} \\ -\sqrt[3]{\varepsilon} \end{bmatrix} = \begin{bmatrix} \frac{\sqrt[3]{\varepsilon}}{-1} \\ -1 \end{bmatrix} = -1$$

$$[a] = \left[-\frac{1}{4} \right] = -13$$

$$a^r = a + \frac{r}{1}a + \frac{1}{9} \Rightarrow \frac{r}{1}a = \frac{-1}{9}$$

$$x > \frac{-1}{n^r} \rightarrow x^r < \frac{1}{\varepsilon} \rightarrow \frac{1}{n^r} > \varepsilon \rightarrow \frac{-1}{n^r} < -\varepsilon \rightarrow \frac{-r}{n^r} < -1 \rightarrow \text{حاصل} = -9$$

$x > \frac{1}{x} \rightarrow x^2 < \frac{1}{x} \rightarrow \frac{1}{x^2} > x \rightarrow \frac{x^2}{x^2} > 12$ حاصل برابرت مضروب

$$\lim_{x \rightarrow 1^+} \frac{x^2 - 1}{x^2 - [x^2]} = \lim_{x \rightarrow 1^+} \left(\frac{x^2 - 1}{x^2 - 1} = \frac{(x-1)(x+1)}{(x-1)(x^2 + x + 1)} \right) = \frac{1}{1^2} = 1 \quad \textcircled{a}$$

$$\lim_{x \rightarrow -\infty} \left(\frac{x^2 + 1 \cdot x + 14}{1x + 4\sqrt{x}} = \frac{(x+1)(x+14)}{4(\sqrt{x}+2)} \times \left(\frac{\sqrt{x^2} - 2\sqrt{x} + 4}{1 \cdot 1 \cdot 1} \right) \right) = \quad \textcircled{b}$$

$$\lim_{x \rightarrow -\infty} \frac{(x+1)(x+14)}{4(\sqrt{x}+2)} = \lim_{x \rightarrow -\infty} x + 15 = -\infty$$

$$\lim_{x \rightarrow 0} \frac{\sqrt{1+\cos x} - \sqrt{1-\cos x}}{\sqrt{1-\cos x}} = \lim_{x \rightarrow 0} \frac{\sqrt{1+\cos x} - \sqrt{1-\cos x}}{\sqrt{1-\cos x}} \times \frac{\sqrt{1+\cos x} + \sqrt{1-\cos x}}{\sqrt{1+\cos x} + \sqrt{1-\cos x}} = \quad \textcircled{c}$$

$$\lim_{x \rightarrow 0^+} \left(\frac{\cos x}{\sqrt{1+\cos x} + \sqrt{1-\cos x}} \times \frac{1+\cos x}{-\sin x} \right) = \frac{1 \times \sqrt{1}}{-2\sqrt{1}} = -\frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{a}x)}{kx^r} = \infty \xrightarrow{\text{h.o.p.}} \lim_{x \rightarrow 0} \frac{-\sin(\sqrt{a}x)}{rkx} = \infty \quad \textcircled{d}$$

$$\left[\frac{0}{0} = ? \right] \lim_{x \rightarrow 0} \frac{-\cos(\sqrt{a}x)}{rk} = \infty \Rightarrow \frac{-1}{rk} = \infty \rightarrow rk = -1 \rightarrow k = \frac{-1}{r}$$

$$\lim_{x \rightarrow 0} \frac{\sin(\sqrt{a}x)}{\frac{1}{\sqrt{a}}x} = \infty \xrightarrow{\text{h.o.p.}} \lim_{x \rightarrow 0} \frac{\sin(\sqrt{a}x)}{x} = \sqrt{a} = 1 \Rightarrow \quad \textcircled{e}$$

$$\frac{a}{k} = \frac{1}{\frac{-1}{r}} = -r \quad \checkmark$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{\sqrt{x - \sqrt{a}} + \sqrt{x} - \sqrt{\sqrt{a}}}{\sqrt{x^2 - a}} \stackrel{\text{h.o.p.}}{=} \lim_{x \rightarrow (\sqrt{a})^+} \frac{1}{\sqrt{x - \sqrt{a}}} + \frac{\sqrt{x}}{\sqrt{x^2 - a}} - 0 = \frac{x}{\sqrt{x^2 - a}}$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{\sqrt{x} + \sqrt{x - \sqrt{a}}}{(\sqrt{x})(\sqrt{x - \sqrt{a}})} = \frac{(\sqrt{x} + \sqrt{x - \sqrt{a}})(\sqrt{x - \sqrt{a}})(\sqrt{x + \sqrt{a}})}{x \sqrt{x} \times \sqrt{x - \sqrt{a}}} = \frac{(\sqrt{x} + \sqrt{x - \sqrt{a}})(\sqrt{x + \sqrt{a}})}{x \sqrt{x}}$$

$$\lim_{x \rightarrow (\sqrt{a})^+} \frac{(\sqrt{x} + \sqrt{x - \sqrt{a}})(\sqrt{x + \sqrt{a}})}{(\sqrt{x} + \sqrt{x - \sqrt{a}}) \times \sqrt{x}} = \frac{\sqrt{x + \sqrt{a}}}{\sqrt{x}} = \sqrt{\frac{x + \sqrt{a}}{x}} = \sqrt{\frac{1 + \sqrt{\frac{a}{x}}}{1}} = \sqrt{1 + \sqrt{\frac{a}{x}}}$$

$$\lim_{x \rightarrow -1} \frac{1 - K[x]}{x^2 - 1} = -\infty$$

$$\lim_{x \rightarrow (-1)^+} \frac{1 - K[x]}{x^2 - 1} = \lim_{x \rightarrow (-1)^+} \frac{1 + K}{x^2 - 1} = \frac{1 + K}{0^-} = -\infty \rightarrow 1 + K < 0 \rightarrow K < -1 \quad \text{I}$$

$$\lim_{x \rightarrow (-1)^-} \frac{1 - K[x]}{x^2 - 1} = \frac{1 + K}{0^+} = +\infty \rightarrow 1 + K > 0 \rightarrow K > -1 \quad \text{II}$$

$$I \cap II: K \in (-1, -\frac{1}{2})$$

$$\text{طاق نقاط} = Kx \frac{1 - Kx}{x^2 - 1} - Kx \frac{1 - Kx}{x^2 - 1} < \frac{-K}{x}$$

$$\text{عبر نقاط} = \cos Kx \frac{1 - Kx}{x^2 - 1} - 1 < \cos Kx < 0$$

این نقاط و عرف نقاط
صفت هستند لذا
نقاط در ناحیه سوم
قرار دارند.

$$\lim_{n \rightarrow 0} \frac{\sqrt{r+r_n} - \sqrt{r-n}}{\sqrt{1-C \cdot sn}} \times \frac{\sqrt{r+r_n} + \sqrt{r-n}}{\sqrt{r+r_n} + \sqrt{r-n}} \times \frac{\sqrt{1+C \cdot sn}}{\sqrt{1+C \cdot sn}} =$$



$$\lim_{n \rightarrow 0} \frac{r_n \times \sqrt{r}}{\sqrt{1-C \cdot sn}} \times \frac{1}{r \sqrt{r}} = \lim_{n \rightarrow 0} \frac{r \sqrt{r} \cdot n}{\cancel{|\sin n|} r \sqrt{r}} = r \times \frac{n}{-\sin n} = \boxed{-r}$$